=
3

AFHS
114 BERALFBLRE > ERI BT 1 ¥ [#72 £ H)

- FA (A AR P PRTE PH ) AL E

Lo mhfedrd (= 2 r a0 p i endtd LE K ) BATL I MK E LY
P B AR LRI FREL G AR AREY B~ F T e
QAL IIATARTIMBAREE 114 E 47 230 47 24P hbdnd ker(HAR)

N 2
kS
S 2

I (FF)PFR © F = 9:00~11:30 5 7= 1:30~4:00 o+ o
4.#FwrFY 5 114# 10 14B~1 P16 P o ZEp e oo (114 & 10 17
poris iﬁ—“‘% AP B
Fr4 L H
2. % O04=(A1590003) = 3.+ O#%(A1590002) =
5. 2 Op#(A1590020) = 6.4£0 (A1590012) =&
8. 2 O % (A1590004) = 9.4 O (A1590005) #

4. 7% O = (A1590019)
7. %07 (A1590018)
1. & O % (A1590011)

IS !

=

- ~AER LH 2 BB 1R

@2 a8t hIn s 55 %fr, 2 Ea%’{ﬁﬂ. > BT R AR A R

e~ Fag) & [EATR tH] &5 B Sl o B2 A g -

2 EARAEL 50T (OTs s Bir) #F 2  BEASF LKL RIS
TYRA ~ Baind (%Jfévﬁ By e T?‘) W2~ MRTA o

B.ER AREA AT (FL 2~ Bfg) e h N2 JEEA L H 2 p Az a4 ko

(FT~ 2 ~Bf) 24PN > A FE (e FapsRLG) 2B T

o FFERE 2R T (L e B R) fFOoRERJAEFTR I EN

FriEd 8B R FEAABE > LI RAEEFEM o

A H 2w p A2 e kor(Fi e F) e T A AT ki -

BB Gl e T AR R p it L H

b f B2 A B L UL Aol AR > FTHRE e @%;m B A o

BT DEBFRLECLFSNTBE O ER AR *

AETARBE R R € 3T o

6. FB~A A AL HTL 114527 17 P o

B H G

% 2.5% 03 (A1590009) # 3.% O#(A1590024) # 4.m Oz=(A1590008)

% 5. % O (A1590022) #% 6.% O'}J‘T(A1590017) % 7.8 Opf+(A1590007)

% 8. % Oi£(A1590014) & 9.3%%0 E(A1590023) # 10.:% O % (A1590001)

% 11480 = (A1590021) # 12.# O+a(A1590016) # 13. M O%(A1590015)

% 14. 2 O2 (A1590006)



